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Match #23


These questions are for use in the Virginia High School League’s Scholastic Bowl District competition. Shawn Pickrell, Jason Mueller, and Dan Goff are the authors of these questions; further editing was done by Adam Fine and Marian Suter.

Districts must observe the following conditions, which must be known by all coaches, competitors and spectators of the competition:

(a)
Public discussion of these questions before all VHSL District champions have been determined is prohibited. 

(b)
Releasing these questions to entities outside your District’s competition is prohibited. 

First period: 15 tossups, 10 points each
1.
His last adventures include being stranded on a mountaintop by devilish bird-men and being asked to deliver a gift to the king of Serendip. He also deals with giant birds called rocs, and defeats The Old Man of the Sea by making wine, which he technically couldn’t drink. A porter with the same name hears the stories of his seven voyages around the Indian Ocean. Who is this sailor in The Arabian Nights? 

ANSWER: Sinbad
2.
Known as Icterus galbula, it is closely related to a Bullock’s variety.  Native to eastern North America, the female of this passerine bird is yellow-brown and dull orange, while the male is orange and black.  Name this state bird of Maryland that has a baseball team named after it.

ANSWER: Baltimore oriole (prompt on ‘Oriole’)

3.
This type of noun is distinct from “mass nouns” such as water and air in that they are countable, but instead refer to a group of things or individuals. British English will usually use the plural with what type of nouns – examples of which include government, organization, and team? 

ANSWER: collective nouns

4.
Reruns of this television series ran for a while as Badge 714. Its creator, producer, and star was Jack Webb. Its familiar four-note introductory theme is called, “Danger Ahead,” and its even more familiar opening line includes: “The story you are about to see is true. The names have been changed to protect the innocent.” Officer Frank Smith, Sgt. Ben Romero, and Sgt. Jack Friday were the main characters of what police drama?


ANSWER: Dragnet
5.
A disorder called cyclothymia (sigh-kloh-thigh-mee-uh) is considered part of its spectrum. Some suffer from ‘rapid cycling’ in which four or more changes occur in a year, and others suffer from occasional ‘mixed states.’ Its Type II is harder to diagnose, since the ‘highs’ are not as high as in Type I. What is this psychiatric condition whose sufferers swing between extreme high and low moods? 

ANSWER: bipolar affective disorder or manic-depression or manic-depressive illness

6.
This city’s mayor, Jerry Sanders, has endorsed a lawsuit to overturn Proposition 22, which bans gay marriages in its state. One of this city’s congressmen, Duke Cunningham, resigned in 2005. In October, the Witch Creek and Harris fires forced many residents to evacuate to Qualcomm Stadium. What is this city located in Southern California with a population of 1.2 million? 

ANSWER: San Diego 

7.
He wrote a description of anti-Greek riots in Istanbul for the London Times. His success as a writer enabled him to retire to his estate, Goldeneye. He wrote a memo to ‘Wild Bill’ Donovan outlining how to set up an intelligence service as well as the children’s book Chitty Chitty Bang Bang. Who is better known for the novels Moonraker, Thunderball, From Russia with Love, and Goldfinger, all featuring Bond. James Bond? 
ANSWER: Ian Fleming

8.
It is the home to the largest known crater in the solar system.  Some would consider it to be part of a dual planet system due to its size, being only 1/4 the size of the planet it orbits.  One of the Homeric hymns includes one pairing the patron goddess of this object with Helios. This is what object, the only natural satellite of Terra?

ANSWER: The Moon or Luna
9.
THIS IS A COMPUTATION QUESTION. What is the molecular mass of sucrose, a sugar of chemical formula C12H22O11, given that carbon’s atomic mass is 12, hydrogen’s atomic mass is 1, and oxygen’s atomic mass is 16?

ANSWER: 342
10.
Unangan (oo-nahn-gahn) is what natives of these islands call themselves. Russia’s Commander Islands are connected to these islands via an underwater mountain chain. Islands in this chain include Shemya, Little Sitkin, Umnak, Attu, and Kiska. The western part of the Alaska Marine Highway ferry service connects what islands which extend off Alaska’s southwestern peninsula?

ANSWER: Aleutian Islands

11.
It was first stated in 1637 by its French originator in the margin of Arithmetica (ai-rith-meh-tih-kuh) by Diophantus. The margin, however, was not large enough to contain a truly marvelous proof.  Name this theorem, finally proven by Andrew Wiles, that states for non-zero integer values of a, b, c, and n, that for n greater than 2, there is no solution for a to the n plus b to the n equals c to the n.

ANSWER: Fermat’s last theorem

12.
They are less numerous than neutrophils (noo-troh-filz) but are more numerous than monocytes (maw-noh-sites), eosinophils (ee-oh-sigh-noh-filz), and basophils (bay-zoh-filz).  Large granular ones are known as natural killer cells, while smaller ones are known as T cells and B cells.  Name this type of cell that makes up twenty-five percent of human white blood cells.

ANSWER: lymphocyte(s)

13.
This novel’s protagonist and her three siblings attend the Great Faith Elementary and Secondary School. They are also told to avoid the Wallace Store at all costs, and are discriminated against during a visit to Strawberry, Mississippi. T.J. Avery manages to get Mama fired from her job and nearly gets Stacey killed. What novel by Mildred D. Taylor focuses on Stacey’s younger sister, Cassie Logan?

ANSWER: Roll of Thunder, Hear My Cry
14.
Xerox granted this company three days’ access to its PARC laboratory; the Lisa, one of the first computers with a GUI, was the result. Its founder returned as CEO in 1997 and announced a partnership with Microsoft. Its ‘1984’ commercial consisted of a woman running towards a giant television screen and throwing a sledgehammer. What makers of the Macintosh line of computers now focus on products like the iPhone? 

ANSWER: Apple Computer, Inc.

15.
It is called the tefutzah in the language of the people that underwent it. Later phases occurred after the revolts of the Zealots in 70 CE and of Simon bar-Kochba in 135 CE. Earlier phases occurred after the conquest of Samaria in 722 BCE and of Jerusalem in 586 BCE. From the Greek for ‘scattering,’ what word refers to the dispersal of the Jews throughout the Middle East and eventually the world?

ANSWER: (Jewish) Diaspora 

Second period, 10 directed questions per team, 10 points each
Set A questions have an ‘A’ after their number; set B questions have a ‘B.’ 

1A.
What taxonomic category comes between class and family?

ANSWER: order
1B.
THIS IS A COMPUTATION QUESTION. How much money is 10 quarters, 19 dimes, 6 nickels, and 328 pennies?

ANSWER: $7.98
2A.
The Bergsons, a family of Swedish immigrants that settle in Nebraska, are the focus of what novel by Willa Cather? 

ANSWER: O Pioneers!

2B.
They are also related to the Mescalero and Navajo, among others. Geronimo was the last chief of what tribe’s ‘Western’ group to surrender to the US Government? 

ANSWER: Apache(s)

3A.
What New Jersey-based group released "Lost Highway" in 2007 as a follow-up to the 2005 smash "Have a Nice Day"?

ANSWER: Bon Jovi
3B.
What word describing a job with no real work originates from Latin words meaning “without care”?

ANSWER: sinecure

4A.
What was the nickname given to the 1st United States Volunteer Cavalry Regiment that fought during the Spanish-American War? 

ANSWER: Rough Rider(s) or Wood’s Weary Walkers
4B.
He was the ‘King of Late Night’ prior to his 2005 death.  Who hosted NBC's Tonight Show between Jack Paar and Jay Leno along with his sidekick, Ed McMahon?

ANSWER: Johnny Carson
5A.
THIS IS A COMPUTATION QUESTION. If x = 9 when y = 14 and maintains that ratio, what does x equal when y = 182?

ANSWER: x equals 117
5B.
An object named M31 is what galaxy 2.5 million light years from Earth, that is predicted to collide with the Milky Way in approximately 3 billion years?

ANSWER: Andromeda Galaxy

6A.
The Pont du Gard (pawn dew gar) in France is a well-preserved example of what feat of Roman engineering? 

ANSWER: aqueduct(s)

6B.
What Greek hero cut off the head of Medusa?

ANSWER: Perseus
7A.
Nicknamed “The Singing Brakeman,” what early country music star died of tuberculosis in 1933 and recorded the “Blue Yodels” that included “T for Texas”?

ANSWER: Jimmy Rodgers
7B.
What element is the lightest halogen?

ANSWER: fluorine
8A.
What property of a wave is equal to velocity divided by frequency?

ANSWER: wavelength
8B.
THIS IS A COMPUTATION QUESTION. Convert the binary number 11001101 (one-one-zero-zero-one-one-zero-one) into a decimal number.

ANSWER: 205
9A.
The Ramsay family’s summer home on the Isle of Skye is the setting for most of what novel by Virginia Woolf?

ANSWER: To the Lighthouse
9B.
For a Latin adjective in the first and second declension, what is the ending used to form the adverb associated with that adjective, much as –ter (spell it out) is used to form adverbs from third declension adjectives? 

ANSWER: -e (accept long e)

10A.
THIS IS A COMPUTATION QUESTION. What is the degree measure of an angle measuring 4 pi over 9 radians?

ANSWER: 80 degrees

10B.
‘Support the Qing (ching) and destroy the foreigners’ was the slogan of what group that rebelled in 1900 against Western influence in China?

ANSWER: Boxers or Society of Right(eous) and Harmonious Fists (accept I Ho Chuan or Yihequan – accept answers that include ‘Fist,’ ‘Right’ and ‘Harmony,’ as translations vary)

Third period, 15 toss-ups, 10 points each

1.
The Family First and Green Parties in this country have historically struggled for seats. Its One Nation Party sought essentially to kick out foreigners. Its Democrat Party is slowly declining, especially after leader Andrew Bartlett attacked a fellow Senator while drunk. Kevin Rudd is now the leader of its Labor Party, seeking to regain government from the National and Liberal coalition. What nation is led by John Howard? 

ANSWER: political system of Australia

2.
He demonstrated that combustion required oxygen, completely disproving the phlogiston theory. The law of conservation of mass, the first list of elements, and the metric system are among his accomplishments. ‘The Republic has no need of scientists,’ was a judge’s reply that condemned what ‘Father of Chemistry’ to the guillotine?

ANSWER: Antoine (an-TWAHN) Lavoisier (lah-VWAH-zee-ay)

3.
This nation’s military dictator between 1968 and 1975, Juan Velasco, sought to ally his nation with the Soviet Bloc. The more moderate Francisco Morales Bermudez restored democracy in 1980. Massive inflation has led to the sol being replaced by the inti, which was then replaced with the nuevo sol. Alan Garcia is the current President of what nation that had to deal with the Tupac Amaru and Shining Path guerrilla rebellions?

ANSWER: Peru
4.
 19th century geographers divided the Earth into five of these, including the ‘North Temperate’ and ‘Torrid.’ When paired with ‘out,’ it becomes a verb meaning to stop paying attention. It can also refer to an area of a town or city restricted to a particular type of development, such as ‘commercial’ or ‘residential.’ What word is most often paired with ‘Twilight?’

ANSWER: zone(s)

5.
The margrave Christian Ludwig didn’t have enough musicians to perform them, as King Frederick William I wasn’t very artsy. They were sold in 1734, and not seen again until 1850, when found in the Prussian archives. Two are in F major, two in G major, and the other two are in D major and B-flat major. Occupying BWV work numbers 1046 to 1051 are what most famous concertos of Johann Sebastian Bach?

ANSWER: Brandenburg Concertos
6.
This town is the home to a VHSL member school whose sports teams are the ‘Scarlet Hurricanes.’ This southwest Virginia town was the home to a Lutheran college for women that closed in 1967, and is the burial place of Sherwood Anderson. It is also the home of Mountain Dew. What county seat of Smyth County is named for a Revolutionary War general called the ‘Swamp Fox.’

ANSWER: Marion, Virginia

7.
Explanations of its significance vary: it was the last full day of Harold II’s reign and the day on which Philip IV of France arrested hundreds of Knights-Templar. Some Christian explanations include suppression of a sacred day in Norse myth, or even the number of guests and the day of the Last Supper. Some $800 to $900 million of business is lost on what day, traditionally considered unlucky? 

ANSWER: Friday the 13th
8.
THIS IS A COMPUTATION QUESTION. What is the radius of the circle x squared plus y squared equals 484, given that the circle x squared plus y squared equals r squared has a radius of r?

ANSWER: 22
9.
Some of this project’s programs include Octave, a direct challenger to Matlab, and GIMP, a free photo editing program much like Photoshop. From this project has come a complier called GCC, which works for all the popular computer languages. Name this project built of entirely free open source code, whose goal was to create a operating system not like Unix.

ANSWER: GNU (G-New) or GNU’s Not Unix
10.
A tribe called the Éothéod (ay-oh-thay-awd) was the ancestors of this kingdom, which was continually at war with the Dunlendings. Its ‘Muster,’ or Army, was nearly all cavalry, and was alerted by a series of beacons lit along the White Mountains, with the last one at its capital of Edoras, where kings such as Eomer and Theoden ruled. What kingdom in Middle-Earth was located to the north of Gondor? 

ANSWER: Rohan or Rohirrim
11.
After receiving his undergraduate degree from Johns Hopkins, he was expelled from its medical school for cheating.  In early 2007, he was investigated by local police, suspected of forging prescriptions for hydrocodone.  Who is this misanthropic head of the Diagnostic Medicine department at Princeton-Plainsboro Teaching Hospital, portrayed by Hugh Laurie?

ANSWER: Gregory House, MD

12.
This novel’s main characters move from Gladstone, Pennsylvania, to Charlottesville, Virginia, and escape at the end to Sarasota, Florida. The main characters are the four children of the Dollanganger family – Chris, Catherine, Cory, and Carrie. Their grandmother Olivia and mother Corinne imprison them in Foxworth Hall. Revelations about incest and child abuse are in what first novel by V.C. Andrews? 

ANSWER: Flowers in the Attic
13.
Its government under John Sevier collapsed after extensive Native American raids in 1788, after attempts to place it under Spanish rule failed. In 1785, seven states had voted to admit it to the Union, but the person for whom it was named declined to support its effort. Much of modern northeast Tennessee was the site of what short-lived state? 

ANSWER: State of Franklin
14.
Developed by Walther Nernst, it states that the entropy of a system at zero is a well-defined constant; in essence, the entropy of a system near absolute zero depends only on temperature.  Name this law of thermodynamics that states the impossibility of reaching absolute zero.

ANSWER: third law of thermodynamics

15
The one by Andrea del Verrochio (vay-roh-kee-oh) shows a severed head next to the title figure. The one by Donatello has the head underfoot, and the title figure is only wearing a hat. The one by Bernini shows him preparing a stone in his sling. The one by Michelangelo has him standing naked, deciding to undertake battle. What Biblical figure is depicted in all four of these statues, in various stages of his battle with Goliath?

ANSWER: David (question is about both statues)

Spare questions 

Be sure to mark off questions as they are used. Replace, when possible, a discarded question with a spare in that area (i.e. science for science, English for English, etc.) 

1.
His 1931 death in a plane crash led to the death spiral of the Fokker aircraft manufacturer. He worked with teammate Gus Dorais in the summer of 1913 on passing techniques, leading to a massive 35-13 upset of Army that fall. One innovation he devised was the “shift,” where the backfield formed a box before the snap. What coach is now rolling in his grave due to the poor 2007 performance of Notre Dame?

ANSWER: Knute (kuh-noot) Rockne

2.
He wrote unpublished novels such as The Passing and The Royal Murders while a college student. In 1993, he settled in North Carolina, and began writing novels. The Guardian and Nights in Rodanthe are currently being made into movies. Who created the characters of Jamie Sullivan and Landon Carter in A Walk to Remember and Noah and Allie Nelson in The Notebook?

ANSWER: Nicholas Sparks
3.
THIS IS A COMPUTATION QUESTION. What is the median of 12, 94, 37, 256, 53, 3, 28, and 65; given that these numbers from least to greatest are 3, 12, 28, 37, 53, 65, 94, and 256?

ANSWER: 45
4.
Cod liver oil, fish, shiitake mushrooms, and fortified milk are good sources for it.  Its functions include inhibiting parathyroid hormone secretion. It is vital for properly utilizing calcium and phosphorus, thus enabling bone formation.  Name this fat-soluble vitamin that prevents rickets and is synthesized by sunlight in the skin.

ANSWER: vitamin D
5.
His ex-fiancée, Princess Alys of France, became his father’s mistress, and he eventually married Berengaria of Navarre. He never learned English and spent only six months of his ten-year reign in England, saying it was ‘cold and always raining.’ He much preferred fighting, joining Frederick Barbarossa and Philip Augustus on the Third Crusade. Who is this king of England who was followed by his brother John?

ANSWER: Richard the Lion-Hearted or Richard, Coeur de Lion or Richard I
All questions ©2007 Scholastic Bowl Company of Virginia, Inc. Unauthorized use, as described on the first page of this document, is prohibited.

